Interesting Questions

[bookmark: Qu1][bookmark: _Hlk34852418]Qu 1… Edexcel unit tests, Parametric Equations  -Qu 3.  (Link to markscheme)
[bookmark: _GoBack][image: ]

[bookmark: Qu2]Qu 2… AQA A2 Paper 1, June 2018  -Qu 5.  (Link to markscheme)
[image: ]
[image: ]

[bookmark: Qu3]Qu 3… AQA A2 Paper 1, June 2018 – Qu 12.  (Link to markscheme)
[image: ]
[image: ]
[image: ]



[bookmark: Qu4]Qu 4… AQA A2 Paper 1, June 2018 – Qu13.  (Link to markscheme)
[image: ]

[bookmark: Qu5]Qu 5… AQA A2 Paper 2, June 2018  -Qu 8.  (Link to markscheme)
[image: ]
[image: ]
[image: ]



[bookmark: Qu6]Qu 6… AQA A2 Paper 2, June 2018  - Qu 7.  (Link to markscheme)

[image: ]

[bookmark: Qu7]Qu 7… Edexcel unit tests, parametric Equations  -Qu 6.  (Link to markscheme)
[image: ]



[bookmark: Qu8]Qu 8… Edexcel Paper 1, June 2018 - Qu7.  (Link to markscheme)
[image: ]

[bookmark: Qu9]Qu 9… AQA Paper 3, June 2018 – Qu 6.  (Link to markscheme)
[image: ]

[bookmark: Qu10]Qu 10… AQA Paper 3, June 2018 – Qu 8.  (Link to markscheme)
[image: ]
[image: ]

[bookmark: Qu11]Qu 11… OCR A, Paper 2, June 2018.  (Link to markscheme)
[image: ][image: ]

[bookmark: Qu12]Qu 12… OCR A, Paper 2, June 2018.  (Link to markscheme)
[image: ]



[bookmark: Qu13]Qu 13… OCR, Paper 1, June 2018.  (Link to markscheme)
[image: ]

[bookmark: Qu14]Qu 14… OCR, Paper 2, June 2018.  (Link to markscheme)
[image: ] 

[bookmark: Qu15]Qu 15… OCR Practice Papers, Set 2, Paper 3  - Qu3.  (Link to markscheme)
[image: ]


[bookmark: Qu16]Qu 16… OCR Practice Papers, Set 4, Paper 1.  (Link to markscheme)
[image: ][image: ]

[bookmark: Qu17]Qu 17… AQA Core 3, June 2013.  (Link to markscheme)
[image: ]

[bookmark: Qu18]Qu 18… MEI, Paper 1, June 2018 – Qu 10.  (Link to markscheme)
[image: ]



[bookmark: Qu19]Qu 19… MEI, Paper 1, June 2018  -Qu 11.  (Link to markscheme)
[image: ]

[bookmark: Qu20]Qu 20… MEI, Paper 3, June 2018 – Qu 10.  (Link to markscheme)
[image: ]

[bookmark: Qu21]Qu 21… Edexcel Mock Papers, Paper 1 – Qu 11.  (Link to markscheme)
[image: ]



[bookmark: Qu22]Qu 22… Edexcel Mock Papers, Paper 1 - Qu 10.  (Link to markscheme)
[image: ]
[image: ]

[bookmark: Qu23]Qu 23… Edexcel, A2 Paper 1, June 2019 – Qu 9.  (Link to markscheme)
[image: ]
[bookmark: Qu24]
Qu 24… Edexcel Mock Papers, Paper 1 – Qu 13.  (Link to markscheme)[image: ]

[bookmark: Qu25]Qu 25… OCR AS Paper 2, 2019.  (Link to markscheme)
[image: ]


[bookmark: Qu26]Qu 26… Edexcel Mock Papers, Paper 1  -Qu 14.  (Link to markscheme)
[image: ]
[image: ]

[bookmark: Qu27]Qu 27… Edexcel A2 Paper 2, 2018 – Qu 4.  (Link to markscheme)
[image: ]



[bookmark: Qu28]Qu 28… AQA, A2 Paper 2, 2019.  (Link to markscheme)
[image: ]

[bookmark: Qu29]Qu 29… Edexcel, A2 Paper 1, June 2019 – Qu 5.  (Link to markscheme)
[image: ][image: ]

[bookmark: Qu30]Qu 30… Edexcel unit tests, Integration – Qu 8.  (Link to markscheme)
Use the substitution  to find


,

giving your answer in the form , where  and  are exact constants.
(9)



[bookmark: Qu31]Qu 31… Edexcel, A2 Paper 1, June 2019 – Qu 4.  (Link to markscheme)
 The binomial expansion of


 Can be used to find an approximation to .

[image: ][image: ]

[bookmark: Qu32]Qu 32… Edexcel, A2 Paper 1, June 2019 – Qu 14.  (Link to markscheme)
[image: ]
[image: ][image: ]


[bookmark: Qu33]Qu 33… AQA, A2 Paper 2, 2019.  (Link to markscheme)
[image: ]

[bookmark: Qu34]Qu 34… Edexcel Unit Tests, A2 Stats, Topic 2, Hypothesis Testing.  (Link to markscheme)
[image: ]


Interesting Questions - Answers

[bookmark: Ans1][bookmark: Ans2]Qu 1… Edexcel unit tests, Parametric Equations - Qu 3.  (Link back to question)
[image: https://lh4.googleusercontent.com/v-vXDhSe-nE8WQLS8HJu0a5vmkffdFEm7j_u4s8Ex_EY5UbpJuD0v-QSqOAMDjg7NYewGdDCA6aaIKt6OvZaREnPTi1rvEULN-YhtBIVH2gHaxbi97wzRUt5GL5J7Por7U3xK4tm6d4]


Qu 2… AQA A2 Paper 1, June 2018  -Qu 5.  (Link back to question) 


[bookmark: Ans3][bookmark: Ans4]Qu 3… AQA A2 Paper 1, June 2018 – Qu 12.  (Link back to question) 


[bookmark: Ans5]Qu 4… AQA A2 Paper 1, June 2018 – Qu13.  (Link back to question) 
32 sq in

[bookmark: Ans6]Qu 5… AQA A2 Paper 2, June 2018  -Qu 8.  (Link back to question) 
[image: ]
[image: ]


[bookmark: Ans7]Qu 6… AQA A2 Paper 2, June 2018 - Qu 7.  (Link back to question) 
[image: https://lh6.googleusercontent.com/OAFfAaC531nsKj6UlbmXL9BWp1TK6c8qHn8Ww01QoQKQ_l_RYKBRTnKNcWnfTxDT1X6w_678FJEOOu-ADX5BOxb0L-5h3vRgLw8F19YtQ_tsgnPx1OcdAdBBgosjjD2AFnTQglcW-Z8]

[bookmark: Ans8]Qu 7… Edexcel unit tests, parametric Equations  -Qu 6.  (Link back to question) 
[image: https://lh3.googleusercontent.com/2ZaD_cNfLuPZQMHwvTIFklsT4g1rj4mik6oLe17CgLed0sJUPJ5-t2HyClTBd-rv2KCC42sAAq2UpH6oMModBYGOq2NXQP5bar6_FTGpO8k4mfv2k7x8zvcROofysvNU88en5m3Jb60]
Width = 160m
Height = 100m

Qu 8… Edexcel Paper 1, June 2018 - Qu7.  (Link back to question)
-

[bookmark: Ans9]Qu 9… AQA Paper 3, June 2018 – Qu 6.  (Link back to question) 
[image: https://lh5.googleusercontent.com/DGdCUKvP0slI4go1XeY19BVfVqqf1pvQnpgMRAiSMfTaEiYkzEYrJ8zQsRDn8qR1QSylAtCgywvQiDqWy05ucAmYm6QU8_I2njqwBw5rTxt8fXjwEvumYWOZBW7ACuZoAHDovKOv_r8]

[bookmark: Ans10][bookmark: Ans11]Qu 10… AQA Paper 3, June 2018 – Qu 8.  (Link back to question) 
[image: ]

[bookmark: Ans12]Qu 11… OCR A, Paper 2, June 2018.  (Link back to question) 
0.0668 or 0.067

Qu 12… OCR A, Paper 2, June 2018.  (Link back to question)
-

[bookmark: Ans13]Qu 13… OCR, Paper 1, June 2018.  (Link back to question)
-

[bookmark: Ans14][bookmark: Ans15]Qu 14… OCR, Paper 2, June 2018.  (Link back to question) 


[bookmark: Ans16]Qu 15… OCR Practice Papers, Set 2, Paper 3  - Qu3.  (Link back to question) 
[image: https://lh6.googleusercontent.com/B9raPp396dVIcKPEq5LZgN-fWI3cZWHAnflmhHMivAfmUpyA3se-gbJpTOsPSKycQx35AyaPRRcmy4oiyT6sBv_flpHWwh5mPIEhxsW6M5r61t9jOOuqId0pn7-YAWAMPb4PSMyOq9Q]

[bookmark: Ans17]Qu 16… OCR Practice Papers, Set 4, Paper 1.  (Link back to question) 


[bookmark: Ans18]Qu 17… AQA Core 3, June 2013.  (Link back to question) 
[image: https://lh6.googleusercontent.com/Voy7VFYttEC6OeQ_8rOe6SuXGA1zgHMe5PRO1a2YXroNFDXs7rbNaoWZGptvcHuz-Stq2TZqdMS-QaHLmBH2KiMMyvQgZuWyykIK6QQh1GAEi71HkfWAM7NMForGcuvNrI2Q9BWIXEQ]

[bookmark: Ans19]Qu 18… MEI, Paper 1, June 2018 – Qu 10.  (Link back to question) 
[image: ]

[bookmark: Ans20]Qu 19… MEI, Paper 1, June 2018  -Qu 11.  (Link back to question) 


[bookmark: Ans21]Qu 20… MEI, Paper 3, June 2018 – Qu 10.  (Link back to question) 
[image: ]

Qu 21… Edexcel Mock Papers, Paper 1 – Qu 11.  (Link back to question) 
[image: https://lh3.googleusercontent.com/NWcBgYT5C8GV7JfNEHjZJi3_UZYBbxCzQwMuLbPna-wJL0temFIGAsnREGBd-NBPKtMAgCysYmwkcmYGGi5EzebuE6tVYOD1o3O1njen2tUEZY_xR_Uob2tP21JyADbz1giG8tZ9wzA]

[bookmark: Ans22]Qu22… Edexcel Mock Papers, Paper 1 - Qu 10.  (Link back to question) 
[image: https://lh5.googleusercontent.com/_AOKeSre0-YjY-rfCLDk0_MkUxGHmpohKn-tY0aIIafUxLq3zpOLaKAuo62g29wX_yXYKIyimM_RkrPlPnCodkpQ0bIjgJ9ek81xr5HIFNCZ5voVAKtm1xQqo3f2Io9vRgNx1Tik4vs]


[bookmark: Ans24]Qu 23… Edexcel, A2 Paper 1, June 2019 – Qu 9.  (Link back to question) 
[image: ]

[bookmark: Ans25]Qu 24… Edexcel Mock Papers, Paper 1 – Qu 13.  (Link back to question) 

[image: https://lh6.googleusercontent.com/Ud32OQfHC1BJ3GIfdALy_NMlQ2apIaucZFKYGl6lWVwHc04MJssp5m1P0XCg7uMXJT1BVzV0vKLch35_G_LSgNT0lGIjRuohT29LBw94fl8U3q0d134o1T4IwkGSBI1wMLrDSZG1Wx8]

[bookmark: Ans26]Qu 25… OCR AS Paper 2, 2019 – Qu7.  (Link back to question) 
[image: ]

[bookmark: Ans27]Qu 26… Edexcel Mock Papers, Paper 1  -Qu 14.  (Link back to question) 


   or   

[bookmark: Ans28]Qu 27… Edexcel A2 Paper 2, 2018 – Qu 4.  (Link back to question) 
[image: https://lh5.googleusercontent.com/yq__G3xt7XPkEIiegmsHwWk-JLf1Ll1VfAZbWMYHL7sl604w-we8dbgZDFOz0ayRipbFFG3zKrnDKZavvpgvY_3RNyre1LOPpm9mBaJguTz3vDIvBUXv8Sl15NxvrTXWNjqnT1H4Li0]

[bookmark: Ans29]Qu 28… AQA, A2 Paper 2, 2019.  (Link back to question) 
[image: ]

[bookmark: Ans30]Qu 29… Edexcel, A2 Paper 1, June 2019 – Qu 5.  (Link back to question) 
[image: ]
[image: ]

[bookmark: Ans31]Qu 30… Edexcel unit tests, Integration – Qu 8.  (Link back to question) 



[bookmark: Ans32]Qu 31… Edexcel, A2 Paper 1, June 2019 – Qu 4.  (Link back to question) 
[image: ]
[image: ]

[bookmark: Ans33]Qu 32… AQA, A2 Paper 2, 2019.  (Link back to question) 
[image: ]
[image: ]

Qu 33… Edexcel, A2 Paper 1, June 2019 – Qu 14.  (Link back to question) 


[bookmark: Ans34]Qu 34… Edexcel Unit Tests, A2 Stats, Topic 2, Hypothesis Testing.  (Link to question)
[image: ]

image6.png
Prove that there are no real solutions to the equation

30sec? x + 2cosx
7

secx + 1

[5 marks]
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A company is designing a logo. The logo is a circle of radius 4 inches with an
inscribed rectangle. The rectangle must be as large as possible.

The company models the logo on an x-y plane as shown in the diagram.

y4

=v

Use calculus to find the maximum area of the rectangle.

Fully justify your answer.
[10 marks]
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Determine a sequence of transformations which maps the graph of y = sinx onto
the graph of y = /3sinx — 3cosx + 4

Fully justify your answer.
[7 marks]
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Show that the least value of - ! i 2-V3
V3sinx —3cosx + 4 2

[2 marks]




image10.png
1

Find the greatest value of ————————
g V3sinx — 3cosx + 4

[1 mark]
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A function f has domain R and range {y e R:y > ¢}
The graph of y = f(x) is shown.

y4

>
X
" . - dy N
The gradient of the curve at the point (x, y) is given by d—: (x—1)e
X

Find an expression for f(x).

Fully justify your answer.

[8 marks]
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A large arch is planned for a football stadium. The parametric equations of the
arch are x =8(7 +10), ¥ =100—7,~10<7 <10 where x and y are distances in
metres.

a Find the cartesian equation of the arch. (3 marks)
b Find the width of the arch. (2 marks)
¢ Find the greatest possible height of the arch. (2 marks)
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Given that k € Z*

(a) show that

(b) show that

j (3 ————dx is independent of &,

k)

[

dx 1s inversely proportional to k.

“@)

3)




image14.png
X
A function f is defined by f(x) = ———
V2x -2

State the maximum possible domain of f.
[2 marks]
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. . in 2. .
Prove the identity L); = 2sinxcos®x
1+tan®x

[3 marks]
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4sin40

Hence find Jiz
1+ tan“ 20

[6 marks]
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2
The variable Y has the distribution N(, %). Find P(Y > 1.5u). [3]
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In the expansion of (0.15 + 0.85)*, the terms involving 0.15" and 0.15"*! are denoted by 7. and 7, ,
respectively.

T.  17(r+1)
.. ro_ 3
(i) Show that T 3G0=7)" [3]
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YA

Gmo) ¥

The diagram shows the curve y = ;CLZX, for x>0, and the normal to the curve at the point (%7!,0).

Show that the exact area of the shaded region enclosed by the curve, the normal to the curve and the y-axis
islnf+ 0]

1
28"




image20.png
The diagram shows a part ABC of the curve y = 3 — 2x%, together with its reflections in the lines y = x,
y=-xandy=0.

Find the area of the shaded region. 7
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A sequence of three transformations maps the curve y = Inx to the curve y = ¢* — 5. Give details of these
transformations. [4]
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Solve the simultaneous equations

o —2¢ =3
X —4e¥ =33,

Give your answer in an exact form.

51
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(@) (i) By writing Inx as (Inx) x 1, use integration by parts to find Jlnxdx. (4 marks)

(ii) Find J(lnx)zdx. (4 marks)

(b) Use the substitution u = y/x to find the exact value of

4
1
J1x+ﬁdx (7 marks)




image24.png
Fig. 10 shows the graph of y = (k—x)Inx where k is a constant (k > 1).

y

Fig. 10

Find, in terms of £, the area of the finite region between the curve and the x-axis. 8]
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Fig. 11 shows two blocks at rest, connected by a light inextensible string which passes over a smooth pulley.
Block A of mass 4.7 kg rests on a smooth plane inclined at 60° to the horizontal. Block B of mass 4 kg rests
on a rough plane inclined at 25° to the horizontal. On either side of the pulley, the string is parallel to a line
of greatest slope of the plane. Block B is on the point of sliding up the plane.

Fig. 11

(i) Show that the tension in the string is 39.9N correct to 3 significant figures. 12]

(ii) Find the coefficient of friction between the rough plane and Block B. [5]
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a 4
Point A has position vector (b) where @ and b can vary, point B has position vector (2) and point C has
0 0
2
position vector (4) ABC is an isosceles triangle with AC = AB.
2
(i) Showthat a—b+1=0. 4]

(i) Determine the position vector of A such that triangle ABC has minimum area. [6]
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Given that

T
x =2tany ——<y<5
show that
d_y_ k
dv 4+ X7

where £ 1s a constant to be found.

(C))
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Figure 4
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Figure 4 shows a bowl with a circular cross-section.
Initially the bowl is empty. Water begins to flow into the bowl.

At time 7 seconds after the water begins to flow into the bowl, the height of the water in
the bowl is ~Zcm.

The volume of water, V'ecm?®, in the bowl 1s modelled as
V' =4zh(h + 6) 0<h<25
The water flows into the bowl at a constant rate of 807 cm?®s™!

(a) Show that, according to the model, it takes 36 seconds to fill the bowl with water
from empty to a height of 24 cm.

1

(b) Find, according to the model, the rate of change of the height of the water, in cms™,
when 7 =8

(8)
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Given that @ > b > 0 and that @ and b satisty the equation
loga —logh = log(a — b)

(a) show that

3

(b) Write down the full restriction on the value of b, explaining the reason for this restriction.

(2)
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-Given that p is a positive constant,
(a) show that

> in(p") = kinp

n=l1

where £ is a constant to be found,

(2)
(b) show that

iln(Sp") =33In(2p°)
@)
(c) Hence find the set of values of p for which
i]n(S p")<0
el

giving your answer in set notation.

(2)
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G-9G-1)

The diagram shows part of the curve y = (5 —¥)(x— 1) and the line x = .

Given that the total area of the regions shaded in the diagram is 19 units?, determine the exact value
ofa. 18]
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P(1, 4¢7?)

Figure 7
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Figure 7 shows a sketch of the curve with equation
y=4xe* x=20
The line / is the normal to the curve at the point P(1, 4¢7%)

The finite region R, shown shaded in Figure 7, is bounded by the curve, the line /, and
the x-axis.

Find the exact value of the area of R.

(Solutions based entirely on graphical or numerical methods are not acceptable.)
(10)
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16
(i) Show that Y (3+5r+27)=131798
P @

(ii) A sequence u, u,, U, ... is defined by

100
Find the exact value of Zur
6
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Solve the differential equation

dr  Inx
— = forx>0
dx  x2t x

given x =1 when =2

Write your answer in the form 2 = f(x)
[7 marks]
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f(x) =22 +4x +9 xeR

Write f(x) in the form a(x + b)* + ¢, where a, b and ¢ are integers to be found.

3

Sketch the curve with equation y = f(x) showing any points of intersection with the
coordinate axes and the coordinates of any turning point.

3

(1) Describe fully the transformation that maps the curve with equation y = f(x) onto
the curve with equation y = g(x) where

g(x)=2(x—2)*+4x-3 xeR
(11) Find the range of the function

h()=——2 xeR
2x"+4x+9 (4)
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The expansion can be used to find an approximation to NG
Possible values of x that could be substituted into this expansion are:

e x=-14 because = =

TT

e x =2 because

i

1ﬁ
w

1
o x= because

(b) Without evaluating your expansion,

(1) state, giving a reason, which of the three values of x should not be used

(O]

(1) state, giving a reason, which of the three values of x would lead to the most
accurate approximation to NG)

@
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The curve C, in the standard Cartesian plane, is defined by the equation
. -7 s
X =4sin2 — < y<—
Yooty
The curve C passes through the origin O

(a) Find the value of % at the origin.

2
(b) (1) Use the small angle approximation for sin2y to find an equation linking x and y
for points close to the origin.
(11) Explain the relationship between the answers to (a) and (b)(1).
2

(c) Show that, for all points (x, y) lying on C,
dy _ 1

dr avb — x*

where a and b are constants to be found.

)
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A curve has equation
v =asinx +bcosx

where a and b are constants.

The maximum value of y is 4 and the curve passes through the point (g 2\/5) as
shown in the diagram.

Find the exact values of @ and b.
[6 marks]
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A random sample of size 7 is to be taken from a population that is normally distributed with
mean 40 and standard deviation 3. Find the minimum sample size such that the probability of
the sample mean being greater than 42 is less than 5%.

(Total S marks)
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x+4 Ml | L1b 6th
Statessinr =" and cos
7 Convert between
S i
Recogaises thatthe identitysin”r+ cos’r = Ican be vsed to find | M1 | 222 | PEEREEE,
the cartesian equation cartesian forms
P using
Makes the substitution to find (x+4)° +(y—3) AL L6 | onometry.
(0]
States or implies that the curve is a circle with centre (—4,3) | M1f | 22a 6th
d radivs 7
and radtus Sketch graphs of
; i
Substitutes 7 = —%m findx=—11andy=3 (-11.3) Mife | L B etions.
Subsmmes,:g to find ¥ = 2.06 and y = 6.5 (2.06, 6.5)
Could also substitute £ = 0 to find x = —4 and y = 10 (~4, 10)
Figure 1 Drawsfully | Alft | Llb
correct curve.
LS
Ly
(0]
Makes an attempt to find the length of the curve by recognising | M1t | 1.1b 6th
that the length is part of the circumference. Must at least
attempt to find the circumference to award method mark. Sketch graphs of
C=2xmx7=l4zx parametric
Functions.
s Alfe | L1b

Uses the fact that the arc xsi of the circumference to write

arc length :%)n

@
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Compares with Rcos(x+a) or AO3.1a M1 \3sinx—3cosx = Rsin(x—a)
Rsin(x+a) sinxcosa — Reosxsina
Obtains two correct equations for AO3.1a M1 Reosa =3
R and & for example Rsina=3
Rcosa=+/3

. B R=\12=23
Rsina =3
Must be explicitly seen na =3
Obtains correct R AO1.1b B1 a=Z
Condone AWRT 3.46 Pl by 3
description of stretch y=243. sin(x—%)ﬂ
Obtains correct « in radians or AO1.1b B1
degrees Pl by description of
translation
Interprets their values of R and & AO3.2a B1F ) z
to form an equation of the form Translation | 3
y=Rsin(x+a)+4o0r 0
y=Rcos(xta)+4 Stretch in the y-direction scale
Interprets ‘their’ equation to identify | AO3.2a E1F | factor 2\/5
a transformation
Identifies all required AO3.2a A1 0
transformations in a correct order Translation ( )
cro 4
Deduces the least value occurs AO2.2a M1 1 _ 1
when their sin(x—%)=1 VBsinx—3cosx+4  2J3sin(x—2)+4
Using ‘their’ values of R and a
Pl by sight of 1 Least value when sin(x—%) =1

2J3+4
.. least value is given by
Completes rigorous argument to AO2.1 R1 1 2-3
obtain ! and then the given 23+4 2
2J3+4

answer
Deduces the greatest value AO2.2a B1F 243
Using ‘their’ values of R and a Greatest value =

1 2443

ACF—— =
23+4 2

Total

10
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K

The curve C has parametric equationsx = 7sinz—4,y =7 cosf+3,— 2 <r<

WA

a  Show that the cartesian equation of C can be written as (x+ a)z + (y + b)z =c,
where a, b and c are integers which should be stated. (3 marks)

b Sketch the curve C on the given domain, clearly stating the endpoints of the curve. (3 marks)

¢ Find the length of C. Leave your answer in terms of 7. (2 marks)
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Integrates using integration by AO3.1a M1
parts
Applies integration by parts formula | AO1.1a M1
correctly to either of (x—1)e* or
xe*
Obtains fully correct integral, AO1.1b Al
condone missing constant.
Explains clearly why the minimum AO2.4 E1
y value is e with reference to the
range of the function OE

dy AOT.1a M1
Uses o =0to find x coordinate of
minimum
Deduces that the curve passes AO2.2a Al
through the point (1,¢)
Ust_es their minimum point to find AO1.1a M1
their ¢
States the correct equation in any AO1.1b Al

correct form
Condone y instead of f(x)
CAO

y:j(x—l)e‘dx
u=x-1 ﬂ:1

dx
dv .
— =€ vV=¢
dx

y=(x-1e" —Ie’dx

y=(x-De"-e"+c
Range >e=atminy=¢

Min point when Y =0..x=1
dx

So curve passes through (1,¢)
e=(1-1e'-¢e' +c

c=2e

.'.f(x) =(x—2)e" +2¢
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. x—80 M1 1.1b 8th
Rearranges x = 8(+10) to obtains = ——
8 Use parametric
b equations in
— M1 1.1 ing i
Substitutess = x-80 into y =100 mode]_.lmg ma
8 E variety of
contexts.
x-80Y.
For example, y =100 — [TJ is seen.
. 1 5 Al 1.1b
Finds y=——x+>x
ST e T2
3
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